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. The value of the digit 5 in the number 25821 is:
A) 5 units

B) 5 thousands

C) 5tenths

D) 5 thousandths
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A) 50,000FCFA

B) 550,000FCFA
C) 500,000FCFA
D) 450,000FCFA

. The number 0.0031492 corrected to 3 significant
figures is:

A) 0.003

B) 0.00314

C) 0.00315

D) 3.1492 x 1073

. The number 631927 expressed in standard form
is:
A) 6.31927 x 10°

B) 6.31297x10°°
C) 63.1927 x 10*

D) 6.3 x 10°

The monthly salary (S) of a worker is directly
proportional to the number of hours (H) of work
he puts in. When he puts in 90 hours, his salary
is 135,000FCFA. Suppose he puts in 162 hours,
his salary will be:

A) 270,000FCFA

B) 243,000FCFA

C) 180,000FCFA

D) 150,000FCFA

If — 7 is added to half a certain number, the sum
is — 2. The number is:

A)5

B) 10

C)-5

D) -10

On a map with scale of 1:200,000 two towns
are12.35cm apart. The actual distance between
the two towns is :

A) 61.75km

B)6.175km

C) 2.47km

D) 24.7km

. Thevalue of (—2)® + 1 is:
A) -5

B) 9

C)4

D)-7

. Given that p=2"x3and that

q=2x3"" x7where neN", the greatest
common divisor of p and qis:

A) 2

B).3

C) 2"x3"!

D) 6

10.

Fig. 1is a Venn diagram that represents the
relationship between two sets A and B.

A B

UR >

Fig.

The shaded region could be described as:

A) B
B) A
Cc) A'nB
D) AnB

. Mr. Tombali bought a piece of land for
500,000FCFA and later sold it making a profit
of 10%. The selling price of the land was:

11.

Fig. 2 shows three towns W, X and Y. W and Y
are equidistant from X.

Fig. 2
The bearing of Y from W is:

A) 022°
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B) 093°
C) 105°
D) 065°

12.

Given that Q is a set and that n(P(Q)) =
64, where P(Q) is the power set of Q, n(Q) =:
A)5
B) 4
C)8
D) 6

13.

Ade spends 24,000FCFA in buying cloth at
2,000FCFA a metre. How many more metres
could he has bought if the cloth had been
400FCFA a metre cheaper?:

A) 24

B) 3

C) 12

D) 15

14.

The Greenwich Meridian is longitude 0°. 15° on
earth represents one hour and Accra is on the
Greenwich Meridian while Johanesbourg is 30°
East. Given that the time in Accra is 2:17pm, the
time in Johanesbouryg is:

A) 4:17pm

B) 12:17pm

C) 4:17a.m.

D) 3:17pm

D) p

q | pAqg
T|T|T
T|IF|T
piTq/hag
millas
TIEIE 16. Evaluating
1 1,5 .5
E Z $ ol atn T
gives
1
A)E
B) -
11
C)E
D) =

17. Given the function f defined over R by
fix —2x* — 3. Thevalue of f(-2)is:

A) -5
B) -7
C) 5

D) = 11

15.

p and g are two statements. The truth table that
represents the statement “p'and q” is:

A)

B)

C)

18. Fig. 2 shows a relation from set A to set B.

B) {a.b,c,d}

P |1a |paq
T[T[T
T|[F[F
FIT|F
FIF|F

mimiHlH©
T4
—

C) {(a. 1), (b,1),(c,4).(d, 2)}
D) {124, }
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19. Given that (x — 1) is a factor of the Polynomial
P(x) =x® — 3x? + 5x + k, then the value of k
IS
A) -3
B) 2
C)1
D)3

20. The remainder when x* — 2x + 7 is divided by
(x+4) is:
A) —17
B) -1
C) 15
D) 31

21. The equation x(x+2)-3(x+2)=0 has
solution(s):
A) {-3, -2}
B) {3, -2}
C) {-3, 2}
D) {2}
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The value of angle x is:

A) 50°
B) 100°
C) 80°
D) 90°

22. In Fig. 4 below, PQRS is an inscribed
quadrilateral where angle PSR = 80° and angle

P
Q
y
1109
807 4
S .
SRQ = 110° Fig 4
The value of ‘angle yiis:
A) 70
B) 80°
C) 100°
D) 180"

24. In Fig. 4 below, the lines(I})and (1,)

are parallel while (1,)is a transversal.

Al
93° (Il)
//é7 (IZ)

Fig. 6
The value of angle « is:
A) 87°

B) 93°
C) 180°
D) 90°

23. Fig. 5 shows an isosceles triangle ABC with
angle CBA = 80" and AB = BC.

25. A bird on the top (T) of a tree sees a grasshopper
(P) on the ground at an angle of depression & as

shown in Fig. 7 below.

6 cm

Q 8 cm P
Fig. 7

Given that PQ = 8m and TQ = 6m, the value of
Sin 8 is:
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o = 2
Won o e e oo |

>

26.

The value of the angle 270° in radians is:
A) %ﬂ
B)

270

C)
D) 2m

T

27.

The solution of the inequality 2x —3 < 5 is
A)2x < 8

B)x = 4

C)x=4

D)x < 4

D

VAN

C Fig.8

The area of the kite is:

A) 160 cm?
B) 80 cm?
C) 40 cm?
D) 28 cm?

28.

The expression x* —(2x—3)(2x+3) when

expanded and simplified gives:
A) (3+x)(3-x)

B) —3(34-x2)
C) 3(3—x2)
D)3@+xﬁ

29.

2 -3k p
-5 1he value of m for which
0T

v=—2and k= —1is:

m:

31.

A rectangular sheet of paper of sides 12cm by
8cm has a semi- circular piece cut out of it as
shown inFig. 9 below.

8 cm

12 cm
Fig. 9

The area of the unshaded portion in terms of &
is:

A) 96 wem?

B) 8(12 - m) em®

C) 8 wem?

D) 64 mcm?

30.

Fig.8 represents a kite with diagonals AB =8cm
and DC=20cm

32.

Consider the sequence 9, 13, 17, 21, .... The 10"
term of this sequence is:

A) 270

B) 45

C) 27

D) 4

33.

The numbers 9,y,36 are consecutive terms of a
geometric progression. The value of y is:

A) 4

B) 18

C) 22.5

D) -18 or 18
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34.

The midpoint of the line segment joining the
points P(6, - 3) and Q(18, 15) is the point with
coordinates:

A) (- 6,6)

B) (12, 12)

C) (12 ,6)

D) (-6,-9)

35.

The area of the triangle whose vertices are at the
points P(0, 0), Q(0, 4) and R(2, 0) is:

A) 16 square units

B) 4 square units

C) 8 square units

D) 6 square units

40.

The value of r = 2, that satisfies the relation
r-2 2
A4
16
B __
) 3
C) 12

D) 0

36.

The line L: y = 2x — 20 cuts the x-axis at a point
whose coordinates are:

A) (0, 10)

B) (10, 0)

C) (0, -20)

D) (- 10, 0)

41.

Given the matrix equation
(2 3} _ (2 3 )

7 5 7 yv—2
The value of y is:

A)5
B) 7
C) 7
D) 9

37.

The gradient of the line2x+3y—-15=0 is:
A)5

B) 3

)=

_—
r

D)T

42.

The matrix M is of order 4 X 2Zr — 1 and matrix
N'is of order5 x 3. The value of n for which the

produce MN is possible is:
A)3
B) 2
C)5
D) 4

38

. The equation of the line which is perpendicular

to the line y =2x+3and passes through the
point (-3, 1)is:
A) X+2y+1=0
B) x—2y+1=0
C) 2x+y+5=0
D) x+2y—-5=0

43.

The transpose of matrix M = @ i) is:
A% )

B) — 13

o 1)

o=( 7))

39.

Given that the lines 3x+6y+5=0 and
2X+ky —13 = 0are parallel, the value of k is:
INE

B) 2

C) 4

D)-1

44,

A triangle ABC with vertices A (2, 5), B (5, - 2)
and C (0, -1) is reflected along the y-axis to give
the image triangle A’B'C’. The coordinates of
the vertices of A’'B'C’ are:
A)A'(-2,5),B'(-5,-2),C'(0,- 1)

B) A'(-2,5),B'(5,2),C'(0, 1)

C) A'(-2,5),B'(-5,2),C'(0, 1)

D) A'(2,5),B'(-5,2),C'(0, 1)

Fig.

10 below represents a connected network
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B
A
C
D
E Fig. 10
45. The number of nodes in Fig. 10 is:
A)8
B) 6
C)4
D) 7
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49. Table 1 below shows the marks obtained by 20
students in an oral test.

Marks 0 |57 |10|12]13

No.ofstudents |2 |54 |1 |2 |6

46. The number of arcs in Fig. 10 is:
A) 3
B) 6
C)8
D) 7

Table 1
The modal mark is:

A) 6
B) 13
C) 47
D)7

47. Given that OA = —6i +5j and OB =2i—j, the
value of ‘ﬁ‘ is:

A) 14
B) 10
C) 2

D) V28

50. A bag contains 3 red balls and 5 yellow balls
that are identical in shape. The probability of
choosing a red ball and a yellow ball from the
bag, in that order, without replacement is:

15
A) =

15

e g g

48. In Fig. 11 below, O is the centre’and AB a chord
to a circle.

C

S

Fig. 11

Given that angle AOB = 100°, the value of the
angle g.is:

A) 200°
B) 100°
c) 80°
D) 50°
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